Контрольная работа 
7 класс
I вариант

1. Выполнить действия 


а) с*с       в) с18:с6
б) (с4)6               г) (3с)5
     
2. Упростить выражения
а) 2х(3х - 4) - 3х(3х - 1)
 
3. Вынесите общий множитель
 а) 18а3 + 6а2            
 б)  2ху – 3 ху2         

4. Преобразуйте выражение
а) (х +4)2
б) (а – 2в)2
в) (3у+5)(3у – 5)

II вариант

1. Выполнить действия 

а) с7 *с       в) с20 : с8
б) (у2)8               г) (2у)4
     
2. Упростить выражения

а) 3х(2х + 4) - 2х(2х - 3)
 
3. Вынесите общий множитель
 а) 8а4 + 2а3            
 б)  10ху – 15 ху2         

4. Преобразуйте выражение
а) (х +3)2
б) (m – n)2
[bookmark: _GoBack]в) (2у – 3)(2у – 3)
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